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4 Please do not write anythingextra except 4 i!m-~fR:'q"{~~'q"{~~ Slf4it2:<l1
what is asked for. mt I3/mcrT ~ ;;, ~ I

(iv) After examining the question booklet
please enter the Serial No. of the
question booklet at the appropriate
place in the answer sheet and the'
corresponding circles, be darkened
with Black ball-point pen.

(c) Candidates are not permitted to mark
answers in the Answer Sheet in these
15 minutes. TWO Hours more will be
given for marking all the answers.

2 (a) On page 1of Answer Sheerin upper half
2

portion, write Name, Roll No, Name of
Exam Centre, Date of Exam and Sr. No.
of Question Booklet supplied to you. Put
your signatures also. On the lower half
portion of this page fill in the boxes 0of
the first topmost line in capital letters, your
surname and name (in English). Write one
letter in, each box[j Below each letter
darken with Black ball-point pen the circle
obearing same letter.

(1) On page 2 of Answer Sheet fill in your
Roll No., etc. by writing in the D and
. below it by darkening corresponding O.

(c) On page 2 of. Answer Sheet only the
answers to questions are to be marked. The
iflStruttionsfor this are available on the
back cover page of this question booklet.

,- -td)AU entries to be made by alack ball-point
pen.

3. Optical Mark Reader (OMR) machine 3
prepares the result by reading the entries made
in the circles 0with the Black ball-point-pen
on page 1 and 2 of the Answer Sheet, hence
the candidate rnust be e1ttremety careful in
marking these entries and musfnotcommit
errors.

5 USE OF ANY CALCULATOR, LOG
TABLES OR ANY OTHER ELECTRONIC 5
GADGETS, MOBILE PHONES IS
PROlImITED.

6 Rough work should be done on the blank pages' 6
~rovidedafter each section or subject. Extra,
paper will not be supplied.

(For instructions regarding 'marking the.
answers please see the hack cover.pag~ of this
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NOTE
1 This paper has Four sections, General Knowledge of ;:MldiiyalPtaltesh':

Q.No; 1.to 25, 'General Arithmetic: Q.No.26tq'5e>;r"'Gerteraf Hlrldi .:
Q.No. 51 to 75 and General English: Q.No.76 to 100., .

2 This question booklet contains 100qu~~ti09f>,A~~b9' fr,om, 1,tQ100 and,
each question carry 01 mark. All questions, a~~g:)Ip.pulso~ Thef,e)~ no
negative marking.

3 Tally the"number of pages alongwith ,no. of q",e,~ponsp~if1ted(W, cpver
page of the booklet. Also check that question booklet,contains.the questions
of all relevant subjects/topics, as required and stated above and no repetition
or omission of questions is evident.. ,,' " I ':

4 If any discrepancy is found in the Question booklet the same can be
replacedwith another correct question booklet within first '15.minutes.

5 Before answering the questions please read carefullythe instructions printed
on the back cover page of the question booklet and strictlyfollow them•.
Indicate your answers by blacking bubbles carefully only on the O.l~I.R.
Answer Sheet provided.

6 Use of any type of calculator,mobilephone or any other electronicequipment
and log table etc. is strictly prohibited. .
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(A) ~ ~ m
(C) ~ ~ m

(B) 0t~j~a.1'1m

CD) ¥n ~ ~ m

1 Which district is not included in Chambal Division (PRA-MANDAL) ?

(A) Muraina (B) Bhind

(C) Shyopur (D) Dhar

~ t{cqrrif f.fq if -e- ~-m ~ «fhlRrta ~.~ ?

(A) ~ (B) f1:tg

(C) ~~ (D) ~

2 Who .among the following had served as Governor of Madhya Pradesh?

(A) Taiyab .Mi Khan

(C) Barkat Uallab Khan

(B) Aminuddin Khan

(D) Kunwar Mahmood Ali Khan

3 Which Chief Minister did not serve for more than once -

(A) Bhagwantrao Mandloi(B) Shyamacharan Shukla

(C) Raja Naresh Chandra Singh (D) Sunderlal Patwa ,

.~ if -e- ~--e- j&44~ ~ ~ -e- ~ ~. "ll"{ .;;tT -d ?

(A) Wlcja{ICI ~ (B) ~~w"lltl{OI ~.

(C) '1t~T m (D) ~'1:{HiJ 1(11"U'ffi ~ ~.

4 Which division has largest number of districts.?

(A) Indore (B) Ujjain

(C) Bhopal (D) Jabalpur

~ if -e- ~ ~·if.~·~ ~ ?

(A) ~ (B) ~

(C) ~
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(D) \il<S«(I1g;~.
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5 Which of the following statement is true regarding P.V. Dixit ? .

(A) First Lokayukt~,

(B) First Speaker of Legislative Assembly

(C) First leader of opposition

(D) First. State Election Commissioner

(A) 1;{~~ICf)I9ICffi

(C) '1;{~. ~~ C6T ~

(B) 1;{~ ~~ ~~

(D) 1;{~ ~ Piqlt11 .~

6 . Where the first Government forest college was set up in Madhya Pradesh ?

(A) Guna

(C) Balaghat

(B) Sarguja

(D) Rewa

(A) ~ (B) ~(Tl11

(D)' .frqr(C) ~lifll,E\ll

,7 Which of the following pair is not correct ?

Old NameNew Name

(A) Indore

(B) Bhopal

(C) Maheshwar

(D) Vidisha

Indrapur

Bhojtal

Avantika

;:p;(f """ ~';fIlf

(A) ~ ~

(B) ~ \f1'l1ct 1ifI

(C) ~~~. I3tCIf.:ct Cf)I '

(D) M~lT ~

B/3PRY-1301 A] 5 [Contd ..•
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8 Who among the following was the great person born in 1891 and died
in 1956?

(A), Dwarika Prasad Misra (B) Dr. B. 'R. Ambedkar

(C) Viththalbhai Patel (D) P. C. Sethi

~ if~ ~ ~ '"I&I~()!SI 1891 if ~q .1956 if RciTffi ~ ~ ?

(A) mftc6T ~ ,ftf$Jf (B) m.~. >3ffi. -3i~gCf)<

(C) ~~, (D) fro ~. ~

9 .Who among the following is called as "India's Shakespeare" ?

(A) Tulsidas

(C) Kalidas

(B) Ravidas

(D) Ved Vyas

(A) gifl(1~&1(1

(C) CbIf\i1(tI(1

(B) <~&I(1

(D) ~ 'C1:fffi

10 \Y,hich,A( the following city, mentioned in Epic Age, is not in present
Madhya' 'Pradesh t

.'. .. , .•.....

(A) Mahishmati , (B) Kun~alpur

(C) Viratpuri (D) Janakpuri

'"I~ICbI,~ ,Cfi'RT{ if l3fW1fu1ct ~-m "PT\ ~, If'tlf ~~T if ~ ~ ?

(A) "'ilftti4fd

(C) f~HI~~f1

(B) ~difl~(

(D) ii11Cb~f1

11 Which of the following 16 Mahajanapada of 6th Century' B.C. was in
Madhya Pradesh ?

(A) Avanti ,(B) Kasi

(C) Kosal (D) Vajji

~~~t "!: t- 16 '"I~1ii11q~y .q ~ if~ctfA'-m 'i~Iii1'1q& If'tlf ~~T

if tn ?
(A) '~

(C) "Cblmrr
(B) q;ffir

(D) ~



.•

12 Which of the following freedopi fighter did not belong to Madhya Pradesh ?~.

(B) 'Raja Bakhtawar' Singh(A) Ahmad Ullah ,
(C) Thakur Ajmal Singh (D) Veer Narain Singh,

~, -q -e-. ~;--m ~~ *rAr ll~· rt~T-e- ~ ,"'fft "d t .?
(A) ~'~ (B) "UiiIl iI<SdlcHm

13 How many princely states were there in Madhya Pradesh when India had
become independent on 15th August, 1947 ?

(A) 60

(C) 62
(B) 61

(D) 63

,(A) 60

(C) 62
(B) 61

(D) 63

14 When in 1947 Baghelkhand and Chhattisgarh merged in central' province
and Berar, then Madhya Pradesh state came into existence. Its capital was -

(A) Indore

(C) 'N~gpur

(B) Gwalior

(D) Ujjain

~ 19Ld~·~~lq.~. a)?r' -q ilEl(i'f(!Jg q 8=dlij~I$":f\~lijd"\i q;)

fil('lllt{ ~ rt~l ~ ~, err .~ ~ ,~ ~
(A) ~. (B) ,4qlRt1~ (

(C) '~ (D) ~

15 When Bhopal state was a separate state, what was its category ?

(A) A . (B) B
"~) C (D) D

~ ~ ~ ~ "'!~ ~ t WI -q qr, err ~,~~\fr -M "i(qr,?
'-

(A) ~ (B) ~

(C) ~' (D) if

B/3PRY.1301.:..Aj 7 (Contd.~~·,
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16 After Mauryan Dynasty which dynasty did not rule over the present
Madhya Pradesh ?
(A) Sunga (B) Kushan
(C) Satvahan (D) Gupta
~.if; -q~~ ~ ct~l if; .~TmCt>T em ~lRR .~ lltzt >R~l ~ "ftT qr ?
(A) ~ . (B). ~

(D) ~

17 Which of the following hilly ranges are not in Madhya Pradesh ?
(A) Satpuda (B) Vindhyachal
(C) Amarkantak (D) Himalaya

lltzt >R~l ~ ~-~ m 1<S1(ftl~· "ftT ~ ?
(A) ~ (B) ~

(C) -3PHcfllCh (0) ~JOtIi.'f(Of

18 Which river determines the northern boundary of Madhya Pradesh?
(A) Chambal (B) Godawari
(C) Narmada : . (D) Tapti

1l,&I"i ~~Tkrtr.~ ~ ~. o:rcfi am ~.m-ar t ?

. - (A) ~ (B) lne:ler ft
(C) ~ (D) ~.

19 Which of the following is not a division of Madhya Pradesh ?
(A) Mandsor (B) Chambal.
(C) Sagar (D) Rewa
~ ~ -ij ~ -m lltzt >R~l q;r ~'q"fTT"ftT t ?

(A) ~ (B) ~
(C) mTIT (D) frqr

20 How many members of Lok Sabha were elected from undivided
Madhya Pradesh ?
(A) 45 (B) 42
(C) 40 (D) 38

~ lltzt >R~l ~ ~ if; ~ ~ ~ ~erffua ~ ~ ?
(A) 45 (B) 42

(C) 40

. ·B/3PRY-1301_A]

(D) 38



'21 At whichpli¢4ofMadhya Pr.h;~,rntei~ found.?
(A) Sha~dbr"~"' {n} Baitul
I(C} Chhindawara CD) Sarguja
~ rt~T -q ~ ~: %B ~ 1R ,1:fl<n ~ t ?
(A) ~mWf (B) ~

(C) fij&ClI~1 '(D), ~

22 ' Which of the following place does not have an airport ?
(A) Khajuraho . (B) Indore
(C) Jabalpur '. CD) Sagar
~ -q~ ~ ~. 'If{ .~ i3l!T ~. t ?

(A) <SI~<l6) (B) ~

(D) mTIT

23 BOR! Wtldlife Sanctuary is located in -
(A) Hoshangabad (B) Rajgarh
(C) Murena (D) Sagar
~. ~i3i\f~I<oq ~ ~ '-q fu«f t ?

(A) m-~~ (B) ~

. (C) ~ (D) mTIT

24 Which of th~ following' ~Ii~e is not in Gwalior ?
(A) Guj~Palace (B) Madan Palace
(C) Motj-P~ace (D) Jayvilas Palace
~ -q .~' ~-:m lfm ~ClIRTlqC-q'~, t ?

(A) ~ ~ (B) ~ ~

(C) iil(11'1f\*( (D) ii1q~\itN ~

25 ' Alauddin Khan Samaroh is held at -
(A) Ujjain (B) Bhopal
(C) Maihar (D) Sagar
i3i(i1Ii3~'1 lYFf (i''1I()~ ~ lFI'fql \lfffiT t ?

r (A) ~ (B) ~

(C) m (D) mTIT

9

-----------------_._--
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26
.flfc'2 2. . . ... . . .... _...·a,·-·b· -c -,,2hc·-.~

If a == 0.25, b = -0.05 and c = 0.5, then the value of .2 .• 2 ..' , .2' IS ..
a +b. +2OO-c

(A) ~
2

(B) ~
3.

(C) -0.2 '(D) 0

a2 _b2 ';"c2-2bc
~ a= 0.25, b = -0.05 Cf~ c = 0.5 m, aT 2' 2 2 CfIT 1Wf

, a +b +2ab-:-c

1
,(A)

2
'2

(B) 3

(C) -0.2 (0) 0

. {8(3.75)3 + I}
27 . The value of (7.5)2_ 6.5
•

IS :

(A) 8.5 (B) ~
5

(C) 2.75 (0) 4.75

{
8(3o 7sf + I}." . .
(7.5)2 _ 6.5 cpr 1Wf ~ .

(A) 8.5 (B) 9
5

(C) 2.75 (0) 4.75

•..-"""-"---------------..:.----~----~
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8 9 7 5 17
28 On writing 9"' 12' "8' 6"' 20 in the ascending order, which one of the

following will be the fourth term from the beginning ?

5
(A) 6 (B) 8

9

(C) '2
8

9
(D) 12

.;: t

8 9 7 5 17
9' 12' 8' 6' 20 .cn1.~ ~ 1l ~ -q"'{ ~ ~ ~m. ~

~~m Wrr ?

5
(A) -

6
8

(B) 9

7
(C) 8 (D) 9

12

(A) 0 (B) 0.111

(C) 0.888 (D) 0.999

(A) 0 (B) 0.111

(C) 0.888 (D) 0.999



(A) 10000
(C) 72000

(B) 45000
(D) 60000

30 From the .salaryof an officer, 10% is deducted as house rent. 20% of the
rest, he' spends on food. 20% of the rest, he pays as income tax and 10%
of the balance he spends on clothes. Then, he is left. with Rs, 15552. What

. is his total salary ? '
(A) Rs. 25,000 (B) Rs. 30,000
(C) .Rs. 35,000 (D) Rs. 40,000
~ ~ ~ ~ -ij- 10% 1F6R ~. ifal q;g ~ ilfffi1 ~ 1 ~ q)f
20% ~ ~ "{f\ ~ CfffifT tl ~~q;y 20% ~ ~. ~ .~ "ff~ ~~

Cfil 10% ~ CR?iT. "{f\ ~ CDOO ~ I ~ ~ .~ ~ 15552 Q. ~

~I~~~'~~ ?

(A) 25,000 Q.

(C) 35,000 Q.

(B) . 30,000 Q.

(D). 40,000 Q.

31 In art examination, a student scored 200;0 marks and failed by 30 marks.
In the same examination, another student scored 32% marks and obtained
42 marks more than those required to pass. What is the minimum percentage
of marks required to pass the examination ?
(A)' .25% (B) 23%
(C) 28% (D) 30%
~ W~ it. ~ fcrm~· ~ 20% 6fq; ~ ~ "ff~ ~ 30' i3fqj)'"-ij-
~ m Tf(:IlI .~ W~ it ~ ~ fcrm~ .~ 32% ~ ~ .~'"ff~ .m
~ ~ -ij- 42 i3lcf> ~ ~. I ~ ~ ~ ~ ~ m~ffi 6fq;

~~ ?
(A) 25%

(C) 28%

(8) 23%

(D) 30%

32 In an election, 30% of the voters voted for the candidate P whereas 60%
of the remaining voted for candidateQ. The remaining voters did not vote.
If the difference between those who voted candidate P and. those who did
not vote was 1200, how many individuals were eligible for casting vote
in that election ?

~ ~ it 30% 'id&ldl~ ~ P qIT l-ffl ~ "ff~ ~~. ~ 60% 'id&ldl~
;t Q q,l- lffi fa:cnl ~~ ''id&ldl~ ;t ~ lffi q)f w:mr ~ MI ~ P
q,l- lffi ~ .CI"WiT Cf~ \WR lfCf CfiT w:mr ";'f ~ CffiifT em R&:rr CfiT i3RR

1200~, -aT ~ '4d&ldl~ q,l- ~ ~ it lffi ~ CfiT ~ ~ ?
(A) 10000 (B) 45000

(C) 72000
B/3PRY-1301_Aj

(D) 60000
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(A) Rs. 700

(C) Rs. 1500

(B) Rs. 4000

(D) Rs. 6500

33." P lends' Rs. 2500 toQand a certain sum to R. at the same time at the
rate of 7% per annum simple intereste If after=t years, P altogether receives
Rs. 1120 as interest from Q and R, then the sum lent to R is :

P, Q em- 2500 ~. 7% ~ ~,,~:CCr ~ "tf{ \WIT ~ ~ om

~ ~' R em- ,~' ~ ~ CIT "tf{ \3'tlR ~ ~1 ~ 4 qct ~ P em-
Q q R ~ ~ ~t 1120 Q. ~ ~ aT R em- ~ ~ \WIT

~~, ?

(A) 700 ~. (B) 4000 ~.

(C) 1500 Q. (D) 6500 Q.
#

, ,,'

34 The least number of complete years in which a sum of money put out
at , 20% 'compound interest will be more than double, is :

...0')
t!,~;) ',

(A) 3 (13) 5
:';

"I.'.

(C) 6 (D) 4

q)ll "B" Cf>T:f ~ cr.R cCr ~ ~"~' ~ ~ tR 20% '~'tl~1Ri;:

~ ctt CIT _~ ~ ~'i~('1T ijff<) ?

(A) 3 (B) 5

'(C)i' 61- (D) 4

35 What annual payrri'ent'-WiHtlls'charge a debtof" Rs, 1025 due in 2 years
at the rate of 5% comp~nd ;tnterest ?

(A) Rs. 551.25 ('e) '.'! (B) ·Rs. 550
.t;' . ~ i

, (G) Rs. 560 (D) Its. 560.75

. i025 Q;:qrr'~m ~.~ ~'~ ~I ~ 'tlf6<'lRii~ 'qif ~ 5%

~, ~~ ...m ~·:f~.6"ffi CKt.·. llRT, ~ ,'mm?····,

(A) 551.25~.

(C) 560~.

(B) 550~.

; (D) 560.75~.

B/3~RY-1;301_A] 14 [Contd...
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36 By selling a•.plot forRs, 37,4(}O.,Vinod loses 15%. At what price must
he ,sell t~'plot in order to gain 15% ?

(A) Ks. 42,000 (B) Rs.- 50,600 -

(C) Rs. 45,000 (0) Rs. 51,600_

~,~ q;) 37,400 "0. if, ~ -«:~_q;) 15% rGr~ 'llcfr \1 ~ ~'
~ m .q.~ fcf; ~ 15% \ifI1f 1T ?

:

(A) ,42,000 "0. (B) 50,600 O.
rl. -:

(C) 45,000 "0. (0) 51,600 ~.

37 By selling an article at a certain price, a person gets 10% profit. If he
sells 'this article at double that price. then, what will be his percentage profit?

'(A) 20% (B) 100%

(C), 120% (0) 14001c>

~ ~ qf(:. ~' AA~ .~ lIT ~ -« lt$ ~ q;) lOOIc>"{ifI'q' mn
II~ ~ q;) ~ ~' lIT ~ -« ~ ~,lffa"~Rf "{i{l't WIT .?

(A) 20% (B) .100%

(C) . 120% (0) 14001c>

38 A person purchased 90 wall clocks. Out' of which he sold 40 wall clocks
at again of 10% and 50 clocks at a gain 20%. If he' would, have sold all
of the clocks at a uniform profit of 15%, then he would have got

. Rs, 40 Jess. The cost price of each \Vall clock is :

(A). Rs. 50

(C) Rs. 80

(8) Rs.60

(0) Rs•. 90

~ ~ ~ 90 ~ ~ lSOO'l ~-« 40 ~ 10% ~ lIT (fm

50 ~ 20% ~ i.rt ~ t'l ~ qJ ~ ~'.~, I5%.~·-q-{ ~,

m ~ 40'0. ~ ~, ~ cfrcrrt ~' em 16'lr~~ ~ l ?

(A) 50"0. (8) 60"0.

(C) 80"0. (0)90 "0.

-------------------'---~------,--,--
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39 If the length and breadth of a rectangular plot be increased by 50% and
20% respectively, then how many times its area will be increased ?

(A) I! (B) 2
3

(C) 32 (D) 4-
5 5

f 1"
~ 0I14dICflI< ~ cCr ~ nm ~ ~ ?f)q~T: 50% nm 20% -tr ~,
~ 1:J{- ~ .~ ~ fcmR :fIT ~ mtfr ?

(A)
1

(B)1- 2
3

(C) 32 (D)
4-

5 5

40 A man walking at _the speed of 4 kmlhr crosses a square field diagonally
in 3 minutes. Then the area of _the field is :

(A) 20000m~ (B) 18000 m2

(C) 2'5000 m2 (D) 22500 m2

~ ~ 4~./~ cCr "'tTR'f ~ ~ ~ cFI1CflI< ~ ~ -~ -q;)
3 ~ ~ w'~ ."ffin t aT ~ Cf)l ~- .~ ~ ? . .

(A) 20000 -crt ~.
(C) 25000 crt 41.

(B) 18000 crt~.
(D) 22500 crt~.

41·· A triangle -and a parallelogram are constructed on the same base such that
their areas are equal. If tbealtitnde of. the parallelogram is 100m, then
the altitude of the triangle. is :

'(A) 100 meter (B) 200 meter

(C) 100J2 meter (D) 10J2 meter

~ ~Cfm ~ (1'1'~{.-:qg;~ Cf)l ~ ~ •. 13lTm\"~ ,nm'~ ~
~ ~I ~~Ji'::c\( -:qg;~ cCr ,~ 100 ~ rT, aT ~ -tr ~
~ mtfr ?

(A) 100·~

(C) 10012 ~

. B/3PRY-1301_A]

(B) 200 ~

(D) 1OJ2 ~
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42 A hall is 15 m.long and 12 m broad. If the sum of the areas' of the floor
and the ceiling is equal to the sum of areas of the four walls; the volume
of the hall is :

(A) 720 m3 (B) 900 m3

(C) 1200 m3 (D) 1800 m3

.~ ifuf 15 "4R:t. ~ om 12 ~ ~. ~I ~ "Cf)~l om mf t ~ .
q)f m-rr "iff{ ~ t·~ _t ~.~, -aT ifuT q)f &RICA" ~ ~ ?

!'-"

(A) 720 'f.Fflfr.

(C) 1200'f.Ff lfr.

(B) 900 'f.Ff 1ft.

(D) 1800 'f.Ff lfr.

43 The radius and height of a cylindrical tank are 10 meter and 15. meters
respectively. Water is being filled in the empty tank by a cylindrical pipe
at the rate ·of 5 mlsec. If the diameter of the pipe is 50 em, then how
long it will take to fill up the tank ?

(A) 20 minutes (B). 40 minutes

(C) 60, minutes (D) 80 minutes

~ ~Wllq)1( tqftcCr.~ 10 "4R:t ~m ~ 15. ~ ~l" ~ tqft it
~i.'t11q)1{$ ID11 5 "4R:t/-a. ~ ~ ~ 1:IFfr 1fU ~ -m ~ I ~ W $
q)f"&fR{ 50~. ~, -aT tcCr q;) ~ it %cRT. wrn· ~ ?

(A)" 20 ftFg (B) 40 ~

(C). 60m (D) 80 fu;:g

. 44 A hollow sphere of external and internal .diameters 8 em and 4 cm .
respectively is meltedintoa cone of base diameterS: em. Then the height
of the cone is :

(A) 12 cm (B) 14 em

. (C) "15. em (D) 18 em

1:% ~ •.~ ,em ~ "&fR{ 8 ~. om ~ czm:f 4 t4T. ~ I ~ fq.~i.'tICfj(

~ ~~ 'iAl!IT·.TIm ~, ~ l3lTent q)f arm 8 ~ .. ~, -aTW ~~ .~ .~
fc6cAT t ?

(A) 12~.

, (C). 15WlT.
B/3PRY-1301_ A]

(B) 14~.

(D) 18~.
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45
(856+ 167f+ (856"-167)2

is equal to -
(856x856+ 167X167)

(A) 1 (B) 2

(C) 689 (D) 1023

(856+ 167)2+ (856 ~ 167)2
C6T 1fFf ~ -(856X856+ 167 X167)

(A) 1 (B) 2

(C) 689 (D) 1023

(2 2 2 .'. 2).46 2 + 4 + 6 +...+ 20 IS equal to -

(A) 770 (B) 1155

(C) 1540 (D) 385

(22 + 42 + 62 +...+ 202) C6T 1fFf ~ -

(A) 770 (B) 1155

(C) 1540 (D) 385

47 Four prime numbers are considered in the ascending order. The product of
the first three numbers and the product of the last three numbers IS385 and
1001 respectively. Which one of the following is the last prime number?

(A) 11

(C) 17

(B) 13

(D) 19

~ ~ ~ ~ ~. -q ~ ~' ~ ~, '« trtrll -aFT C6T'~OI'1\fi(i1

385 am ,~"-aFT C6T 1~1'1\fi(i1 1001 t ~ -« ~ ~ q)).,-tfr ~ ?

(A) 11

(C) 17

(B) 13

(D) 19
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48 If n is a·natural number then the largest number which divides (n3~n)
..

completely, .is ..
(A) 2. (B) 3

(C) 6 (D) 12

~ n~ ~ ..~ m, -aT (n3-n) ,C6t ~ m Cffiift ~ ¢ ~
cCR-~ t ?

(A) 2

(C) 6

(B) 3 ,

(D)i2

49 Which one of the following numbers will always completely divide the

difference, of the. squares of two consecutive even natural numbers ?

(A) 3

(C) 7

(B) 6,

(D) 4

(A) 3 (B) .6

(D) 4(C) 7

- _. -
50 8.31+0.6 + 0.002 is equal to -

(A) ·8.912 ., (B) 8.912

(C) 8.979 (D) 8~98

(A) 8.912 (B) 8.912"

(C) 8.979· (D) 8.98
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51 ~~f(itftqd -B. ~ Cbt.=r~m .~ .'tftm ~~ ~ ~?

(A) ~-~ (B) , ~~~

(D) ~-~

52 f.:tk1\if1j'{gd -B 'ij- ~-m ~ (,j'Pit}lfeffi ~ Cf)~lqd ~ ~?

(A) ~ ~ qft ~ m ~itft TRf

(B) ~ tftn" ~ ~ qrr .~ ..,.~

(C) ~-$ lfrm ~
(D) "nt ~ m~

(A) ~

(C) ~~~

(B) gi.'l (1'>1 e: I(1
(D) t~rqa:rn

54 ''fir<:r-~' t <tI'1ICf)1< qrr 'fIl{ ~ -

(A) ~~ ~~ 'm~tJ'"

(.8) ~~nuT,~
(C) fu(OjI<I,",~nuT:rcr.

(D) ({4Cf)1~, ~T;P',

55 ~k1RttfuAa -B 'ij- ~-'ij- ~ qrr C[lCfq ~. ~?

(A) ,",~I&ql cr:rt. ~-,~.e:"'ll ¥ q;f4 ~ I

(B) ,",~I&ql qqf~~~ qft Cf)qn:r~l ~ I

(C) ,",~I&ql qqf ~-,-~ qft ~ ~ I

(D) ,",~I&q'>lqqf ~-~ qft. Cf)~~'SI1 ~ I

J

56 ~k1Rrtj'{gd ~~iT ~ ~ ~ CWf<rt~T qrr CfTtIq) ~Wt t - '~' ?

(A) ~ 1J~ ~ s~ (B) ~ ~

(C) ~. t ~,~ (D) ~~'



57 , \3l~I~f{gd ~~ -q~ ll~~.~, ~ ~ ~ t "'Tat" \3l~t

,~ cffi;frctr ~ t ~ ~mi -

(A) ~'"d «1'%fItl

(C) ~'"d {~~tl

(B) , ~'"d HIf6?ctl

(D) ~'"d {~~tl

58 \3lti'~f{gd, -if ~ ~-m ~F \3l~, i?

(A) ~ ~ ~ ~ il

(B) ~m ~ ctr ('f{Cf)I~ ~ tl

(C) -q ifcf;' ~ e;:£jIt1~ ~ I

(D)' ~ ~ '3W1eH" ~. qft CfiIlFfTCfmIl{ I

.'

59 \3ltil~f{gd'~~' ~qft .~. ~ ~ ~ i -

(A), ~ (B) qft~

(C) crfW;o. (D) ~1l:iO

60 \3ltfl~fuId ~.~ cffi";ft. qft ~ ~, ~ ~r:t -
(A) \ffi~ifqfc: (B)'iro~'WfffT~

(C) \ffi~~ (D) ~~
i) , !l~' '&1" fri:>;r'

(A) "Cf)llffi

(C),~'

r

(B;-'~-~~~~;7'

(D) ~

62 Pli4R1fu1d ~ ~ ~-m ~ ~ qft ~ R ~t?. . ,. .

(A)\ftfl «""1 i (B) ~ll €Itoil
J. ~

(C) \fqjt('f'11

B/3PRY-1301..;..A]

"\

(D) \J11t('f '11
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(A) -trl~~ ~ ~
(C) ijj1:f~m~

(B) "U11mfr fm" ~
(D) ~fl:t'>II'1 ;:q'1 'lRf

(A) qc{YICld

(C) ~~"ffiC6"

(B) 1!1!ift < (\31( 1(11

(D) ¥~'14qR>l"1

65 ~~iH~Rsld l{ ~ ~-m ~ ,t?ftftitw--~' .'ftT ~?

(A) -rr-ft-~. (B) , ~qft-~~

(C) qfbi5dl.f1 ~ (D) ~-~~

66 '3{'qlR<1fu1d~~ l{ ~ ~-m ~~ ~SCl't4'1~ "'1fI' i?
(A) ~ (B) '~

(C) _ (D) ~

67 ,13l~~ ~ ~ ~-~ ~~ ~ '{cf 'lUGT' ~ <ffl~Cf)<t??I~~, ~~ ~t?
(iA)_ (B) ,~

(C) :~n (D) ~l

"'. PlI4I~ma~ l{ ~ ~-m ~ ~ i ~~,m[1ift~m;qfiC(.J'1
lR'~ ~ "~ ?
(A) Tffr'm qft ~ ~ t I
I(B) (f('~~a1J"~ ~ ~ I

(C) ~l~ i8tID l{ ~ tl
\(D) ~Trffi' ~ ~ElIW~ ~ t I

69 ~atfiTtfuAd 1)' ~ ~ ~ q)f'3{~ t ~ 'Cf)d{I'1I' ?

(A) ~ f1rffi1l (B) ~ 1l (9lCf)'11

(C) ~ ~ (D) ~ ~ ~~Cffil ~

BfJlRY-130 1-,-A] 24 [Contd ...



B/3PRY.1301_ A] 25 [Contd ...

(A) ~ ~ ~

(C) ~ ~

(B) wr·~
(D) i'jfqjtlftJld·CfiT ~~";f "6tr. m-n .

(A) .~

(C) 3llC6tm

(B) ~~

(Q) ;fsr

72 \3l~RTtfuJd -q qfr;:r-m ~ ~. ~?

(A) ft:mtl Cfi11{.com·tor ~ I'
(B) ft:mtl Cfi11{ qffi. tor ~l

(C)ft:mtl q)lR ~ qffi tor t I
(D) ft:mtl Cfi11{ 1)" qffi tor ~ I .

73 ~""1Rttfuld 1)" -e- .~ -q~. q,Dr. ~ ~ ..~ \3l~ ACfiT'~ fc6m'
7Jc:rT ~ ?

(A) ~ ..~ q;un ~'I

(B) qfriffi q;fq-q;fcr .CfmfT. ~ I

(C) ~. ~-~ CfmIJ .~ I

(D) ~m ~ ~l'

(A) q"f + ~

(C) ~ +~

(B) ~. + mtT

. (D) q + ~

(A) IJOR

(C) ~

(B) ~

. (D) ~



B/3PRY ..1301_A) 26, [Contd ..~



81 She has been studying _'__ two hours.

(A) from
(C) since

'B/3PRY-1301_A]

(B) for
(D) till

27 [CQlltd•.•"

Choose the cor ••• form, oflNnI,.CT$t!EECN fromtheeptions given
below:

76 He said, "~y father likes the company of children."
(A) He siudthat his father liked the company of children.
(B) He asked' that his father likes the company of children.

(C) He said: that his father has liked the company of children.
,(0) He told that his father liked the company of'children,

77 He said to her, "Will you lend me your 'book for a. day?"
(A) He asked her 'if she will lend him her book "fora day.

(B) , He asked her if she would lend him her book for a day.

(C) He said to her if she will lend him her book for a day.
(D) Me asked her would she lend him her book for a day?

78 Ram said to Mohan, "Where do you live ?"

(A)' Ram asked Mohan where he lives.
"), . . ..' ."

(B) Ram told Mohan where he has lived.
,(C) Ram said to Mohan where he lived.

(D) Ram asked Mohan where he lived.

Choose the correct form of PREPOSITION from the'optiQDsgiven below:.., .

79 There is a cow the field..

(A) in (B) at
(C) on (0) upon

80 Here is the. watch" that you were looking _-'--_
(A) up
(C) of

(B) for
(0) out
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Read the passage' and answer the questions that follows :
A king with an invincible army invaded a small country. At some

distance .he saw a woman with two small children, a boy and a girl.
The moment the woman's eyes fell on the formidable' army, she picked
the girl in her arms and started running away. The little boy left behind
by the woman started crying. The king asked his soldiers to bring the
woman and the children before' him. The king asked the woman, "Why
did you leave the boy child behind and try to run away with the girl
child ?" The woman said, "Great King! The girl is mybrother's daughter.
The boy is my son. I could not let down my brother by saving my son
and leaving the girl to her fate." The king said to his soldiers, "If this
country has such brave women who are ready to make such sacrifices,
we can never conquer it." He rewarded the woman with rich gifts. He
gave up the idea of conquering that country.

82 'Invincible army' means, -
(A) unconquerable army
(C) well-equipped army

. (B) strong army
(D) army led by a brave general

83 'Let down: means, -
(A) displease
(B) fail to help or support somebody as th~y had hoped or expected
. (C) disturb
(D) sadden

84 Why did the woman start running away with only one child on seeing
the formidable army ?
(A) She had no time to decide which child to pick.
(B) She could not run with two children in her arms.
(C) She panicked on seeing the formidable army.
(D) None of. the above

85 Why did the king think that the woman was brave ?
(A) She answered the king's questions without hesitation.
(B) She did not save her life by leaving the twcchildren behind.
(C) She was ready to sacrifice her own son to save her brother's

. daughter.
(D) She did not ask for the king's mercy.

86 Choose the most appropriate title of the passage.
(A) The Glory of Sacrifice (B) Invasion of a Country
(C) A Generous King (D) Defeat of an Invincible Army



Choose the eerrectferm efTENSE,in the choices given below: .

87 Mr. Ghosh yesterday about the sample materials you wanted.
(A) called (B) has called
(C) was calling , (D) have called

88 While I was explaining how' the pump worked; suddenly the electricity
cut off.--'--- , :I'

(A) has been
(C) have been

(B) had been
(D) was

89 She is ~__ the soup to see if it needs more salt.
(A) been tasting
(C) being tasting

(B) tasting
(D) tasted

Choose the correet form of DETERMINER from the options given below :

90 pen IS mightier than the sword.
.(A) This' (B) That

•.J

(C) The (D) One

91 green tree is theirs•..
(A) These (B) This
(C} All (D) None of the above

92 .ladies are not Indi~ns•
(A) This (B) That
(C) Those (D) Any

93 IS different from the other.
(1\) All students (B) Each student
(C) Students (D) A student

94 Which will you have, ?
(A) it or this (B) that or them
(C) these or those (D) this or these

29 [Contd••.·
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Choose the correct "form of Alfl'I{ILES from the options given below :

95 He is orphan.

(A) a (B) an
(C) the (D) none

96 It is not such big problem as you think.
(A) a (B) 'an,

(C) the (D) none

97 He is European,

(A) a (BY an
(C) the (D), none

98 Raja is honest boy.

(A) a (B) an
(C) the (D) .none

Choose the correct form of PASSIVE VOICE from the options given
below:

99 Kalidas wrote. the play Shakuntala.

(A) The play Shakuntala was written by Kalidas,

(B) The play Shakuntala was being written by Kalidas.

(C) The play Shakuntala has been written by Kalidas.

(D) The play Shakuntala written by Kalidas.

100 Who wrote this book ?

(A) By whom is this book written?

(B) By whom was this, book written?

(C) By whom will this book be written?

(D) By whom would this book be written?
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INSTRUCTIONS REGARDING METHOD

OF ANSWERING QUESTIONS
Jr~ii~ i3'ffi ~ ~4Tm~l~

(Please use Black ball-point Pen) (~ Black ball-point V;r ~ m~) .
<

.:::::: USE BLACK BALL POINT PEN ONLY ). ~ <:: USE BLACKBALL POINT P.ENONLY) ~

1 Method of Marking Answers :
To answer a question, please dark'
one bubble out of the given four, "
the OMR Answer Sheet against that
question.
Valuation. Procedure:
There are four alternative answers to a
question, only one of them is correct.
One mark will be awarded for each
correct answer, if more than one bubble
are darkened for a question, it will be
presumed that the candidate does not
know the correct answer hence nomark
shall beawarded.

2

3 Cancellation or Change in Answer: 3
It will"not be. possible to change the
marked' bubble with black ball-point
pen; therefore, correct answer should
be .cantliidly chosen before marking it
on·OMR Answer S~.

4.. "'i&swer of QMB••.• ,t SIt.14
to lnviW18tor :
(i) Please ensure ihat aU emritl in the

answer. sheet are filled ap properly
i.e, Name, Roll No., Signatures,
Question B~lot No, ete.

(ii) CANDIDATES AREPERMrrrnD
TO CARRY AWAY THE
QUESTION BOOKLET WITH
THEM A~TER THE
EXAMINATION.

5 Care in Handling the OMR Answer 5
Sbret :
While using answer sheet adequate care
should be taken not to tear or spoil
due to folds or wrinkles and the
impression does not come behind the '
Answer Sheet.
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